[)a) @&+ 3¢)+ (5-aC) = T+e

d.) 3+2C 3420 44 1AFUT+ R
2 - dEL T e - (&
L2+ - ,
= : < el 1—0—- + _l..LC
e —G1) \2 )
SEL ~ .2 . o
2)a.) (a+30)% = qiiai+ 68 2 Yrire-4 = ~G+12¢
Jd.) 150 _ 1#SC 430 R+IBC L I5R
L-3¢ A-3( R+3L Yo q [ &
A4 13~ 15 .y - .
= I3 B | “lel
d— (1) (3 13
7 :
- Ty emT). >
3.) 4-) :QZ'2L b.) al%)\_oz(ma+cm6)3(%¢g-¢cwgfj

> X y
2
= 6o z _. ) 2
I /' ~\\‘
. . ¢ ’ \
Tri o) 0 b
ne IS '
+LM‘3_) i ‘Z \. ’I
. R { “\ '/
= mpgr+tmi§f v (..
3 : 7Ty 3 \ z* -
£ < (,M ?""M‘y’ :
rl—- Lot N L e A — — - -




7) 2= alerTeiomE)
)
a) 2%z 25 (e Tr i 4T )%
= Y Cﬁc’el .,,Lmo(':r")—q[mv_:—(,w“)
2—7\) « PP\ ) M?C.Z‘l)
b.) 2% = 2° (o T+ (2T
- 8(&4%—+LM%’I)_8(_M%4—(LMI )

¢.) &%= ,,z"(m“‘\LLM )

‘“7 (6 (con 7‘”‘~I—<.M2-;r)

) 2= v (ce0+ising) amd ws it (w2(-8)+icn(-0))
Ahon. Zw = wcme+éMe). ‘V‘T (coa(-6)+ L aim C—e))
= L (eon (0-6) +Coim (5-0))

= ICMO~LLMO): l{l#—c'(o)): |

—




12) Z=ded = l=2l= <

- Nr . — A J_'
(W’ qvzx ¢ ‘WIKKI‘LV;L)
= Cod "7— 2o T
é "'C ‘-f) ) /(:-;_ H)
-1

N
(]

(e () o ()

= L ———4.6 ___._,___
i (%)) =3

2
13.)a) 2= 2430 oL 22_4z+ /3:@+?e,)~qéz+3‘¢/+|3
= a2+ IR = P20+ (T =

> 9-94+06 = o
b.) 2i- dz+ (3 =0 =
~GC4) £ YE9)A 4 4t q/~3 :
Z = €4 ;/ )= 40y 2 T R+3¢
2 SR —‘{iizi
/4{.) a.) 2 +2+[(z0 = €z 9 -2 2
Y
et s '_rf y
Z= g+ L \
_('l \‘ R
¥ T X
.._1—'_{37, W .7
2= 77z L ~]

19.) d) 3 (cond2®+iaint2°)- 5(cos 169°4 i 2in 168 °)

= (5{m(<fa+/e<7)+ ¢ M@a +168°))
= 15 (eod QU+ (o Ri0°

5‘(3/+¢<J —(SF -fé




e)) VF (ot W70y L pom 197°)
V& (cor §7°4 (o §7°)

S Tpf (m (47 5704 & ain (147~ §7°) )

= 2 (con906°+ LM?O°/: a”\(o“'LGU = Rc

j) (/)5[ W(I.) .
[3(con 52°+ L2 82°)]
= L2 C2) v e (527
= 1 (282~ ¢ o 52°)

0) (et T ianT) 2 con(ial /uw@”}

= o AW + L L AT = H—LCO]

a) (ot 7§+¢M-) - m@”j

S (5
bos(8)- 48

‘P(

’ R g .
023) FAQT' C%QG+LM9):QO4HG+CMV\G =

Cm@#uwé)_ Co 36+ C 0o 36 =
0038 + 3cog?6- (410 L)+ 3 con b (2n6 - &)
+ LMG)B = o 30 4+ L 2w 36 =
0236 + (3 b coa?B) L — 3 2LlB coad
~ 2nd6- L = a3+ (430 =
(0236 — 3 226 cpa 0) + (34in6 B~ sn’8)
= Coq 38+ L 4w 36 =




cod 36 = w39-—3w’29me o
36 = 3 4 et 0 — sanlB

359-> Kz4’@)X+ 3-C o0 =
= “CE V@A 4W)GE-¢) _~ity~l-(a+4:

XU) 2
I A VAT E VY
2. J
4 Z,
Zz= ~[3+ Hc
~J1%5 7
« = ~_ ©
o= T3 SO
-1 /
- 4 3
T X Ti'/ \Z
MaQ é:‘. T — K gg\
=z T — W({i% .
J
P S

x = L= o x= Lt E s
A 2
. ) {/
Xz —¢Ex 2%, - -‘—C—-cirgS" ~°—)
Py a

L 1557 M(—e—)l) =
s T ) (e )

PV SN - R TS I (—{—3—)




/0 : N
1 4
6 _ 1T \ '
E’CJYJ—»VL -g’—é M’Q \\ /’
N et
Z(‘l<m<n+(,4/vv/\6>
_ 3 __1__(
= 7 Tz )
= Ty &) ¢ ¢ [Ir . &
Z&,l (m(c’+—3~)+cwcé+ 3))
- 5T 5T
= CO{Z"\L L AL ra
_ =13 E
= T vt 2 )
™, YT), T, 4T
2,z | (coa (T4 LF)+ Lo (TH 3/}
= Co2 %r-l—aM?g:

v




l0.) Scloe z'z F4807 L
w= 3+ FU3 ¢ Y

. W T g4 313 ¢
y -
, :(63&473(,)
BT AR 6 - >
= I&(l-i— 3 c,) (3 7
‘ 6/ T g= I
31(0(‘004."%'4’:,%;1). 2 *7x :\\9.. 3
5 5
s T . > X
& = 23 5, 8
7‘7‘&04'\, Z(_'- 2 M—A\ o |y
E‘-(
a . ar
)
‘3. 2 ;)_J

—_ v . "71T
-&CMT+OMTE ;

-]~

AN
XY
§

A (o () L we (o))
2 (con TTa i ain BT
2, = 2 (et (B 3T+ Lot (T+ET))

QC l?'rr—l—-i//.b:w L;i_r>

I




